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Sale 
  

A shop had a sale. All prices were reduced by 15% 

  

  
          A pair of shoes cost £38.25 in the sale. 

          What price were the shoes before the sale? 

          Show your working. 

 

 

 

 

 

 

 

 

 

 

 

 

 

Your turn: 
 
.1. 
A shop had a sale. All prices were reduced by 20% 
A pair of shoes cost £46.40 in the sale 
What price were the shoes before the sale? 
 
.2. 
A shop had a sale. All prices were reduced by 33% 
A pair of shoes cost £51.25 in the sale 
What price were the shoes before the sale? 
Round your answer to the nearest penny 

Answers 

1.£58 
2.£76.50 


